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quatro fragdes, decimais, ordem das operacdes

Nome:

2
3,5+§><4+6><5,2+2=

4,8+2,3x3+3,1=

1 3
—+59x2+ - =
2 7 5

W] =

3
2 -58x%x3-
5 5

Encontro: Data: Pontuagao:

1
§+6><5,9+2—3><5,9=

1
2,3+5,4><2—10><8+5=

W =

1
S —2,2+4x
2

é—11x2—20x19+4=

+3%5,4=

(1S
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~ N\ "I quatro fragdes, decimais, ordem das operagdes
Nome: Encontro: Data: Pontuagao:

2 207 7 1 1

+ - Xx4+6%x52+-2=—=20— —+6X% =2—-3x = —

3,5 3 6 x5, 10 010 3 6x5,9 3x5,9 3
74 4 1 383 23
4,8+2,3x3+3,1=— = 14— 2,3+5,4%x2-10x—-=+5=— =12—
’ ’ ’ 5 5 ’ ’ 6 30 30

13 300 3
Lt 4oy (c12
5 54T O = Cls)
I 3 129 9
S 159x242= -2 =10~
2 5 10 10
1 257 2
2 2o cnns

1

1 11
~—2244% = =(——)
2 3030

1
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